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STANDARD 8TH: CHAPTER 2  

Parallel lines & transversal 

 

Q1. Choose all the correct alternatives 

1. In the following figure, if  𝑙𝑖𝑛𝑒 𝑎 ∥ 𝑙𝑖𝑛𝑒 𝑏  and line l is transversal then find x. 

 
a) 900 

b) 600 

c) 300 

d) 1800 

  

 

2. Calculate the angle θ 

 
a) 790 

b) 800 

c) 900 

d) 79.50  

 

3. State true or False if false write the correct statement: 

“If two parallel lines are cut by transversal, then a pair of alternate interior 

angle is supplementary” 

a) True 

b) False 

(Ans: False, If two parallel lines are cut by transversal, then a pair of 

alternate interior angle is equal) 
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4. Adjacent angles have a common __________ and a common_________ 

a) Vertex, Arm 

b) Angle, Point 

c) Point, Side 

d) Ray, Arm 

 

5. Two angles forming linear pair are__________. 

a) equal 

b) complementary 

c) supplementary 

d) Corresponding 

 

 

6. Calculate x if line 𝐿1 ∥ 𝐿2 

 
a) 900 

b) 700 

c) 800 

d) 1000 

 

 

7. State true or False if false write the correct statement give one example if 

true 

“One acute angle and one obtuse angle can be transformed into linear 

pair” 

a) True 

b) False 
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8. Find the value of x 

 
a) 29 

b) 20 

c) 19 

d) 30 

 

9. Find the value of 𝜃 

 
 

a) 230 

b) 250 

c) 270 

d) 210 

 

 

10. By calculating the value of x, find the value of θ 

 
a) 830 

b) 810 

c) 800 

d) 850 
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Q2. Solve the following questions. 

 

1. Lines AB and CD are parallel. 

 
 

2. Find the missing angles (∠1, ∠2, ∠3, ∠4, ∠5, ∠6, ∠7, ∠8, ∠9, ∠10, ∠11, ∠12) in 

the picture: 

 
 

3. If this path is to continue in the same pattern, then which sequence of 

arrows goes from point  to point ? 

 
 

a)   b)              b)                   c)                  d)                    e)  
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4. In the given figure, which of the following statements must be true? Justify Ans: 

 
 

a) 𝑎 + 𝑏 = 𝑑 + 𝑐 

b) 𝑎 + 𝑐 + 𝑒 = 1800 

c) 𝑏 + 𝑓 = 𝑐 + 𝑒 

 

 

 

5. In the given figure PQ and RS are two mirrors placed parallel to each 

other. An incident ray AB strikes the mirror PQ at B, the reflected ray 

moves along the path BC and strikes the mirror RS at C and again 

reflects back along CD. Prove that AB || CD. 

 
 

 

 

6. In the figure side QR of ∆ 𝑃𝑄𝑅 is introduce to a point S. If the bisectors 

of ∠𝑃𝑄𝑅 and ∠𝑃𝑅𝑆 meet at point T, then prove that ∠𝑄𝑇𝑅 =
1

2
 ∠𝑄𝑃𝑅. 
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7. In the given figure if 𝑃𝑄 ⊥ 𝑃𝑆 and 𝑃𝑄 ∥ 𝑆𝑅, ∠𝑆𝑄𝑅 = 280 and ∠𝑄𝑅𝑇 = 650 

Then find the values of 𝑥 and 𝑦. 

 
 

 

8. If  is a right, then this protractor indicates that the measure 

of  is approximately equal to _________? 

 
 

 

9. The degree measure of angle  is______? 

 
 

 

10. Prove that if two lines are parallel then the alternate angles formed by a 

transversal are equal. 

 


